

CLINICAL TOWELS CATALOGUE

AUSTRALIA & NEW ZEALAND



QUICK LINKS

CLINICAL TOWELS

HALYARD* 2n1* Wipe	
HALYARD* 2n1* Wipe Soft Pack 100	page 27
HALYARD* 2n1* Wipe Soft Pack 200	page 27
HALYARD* 2n1* Wipe canister	page 27
ISOWIPE* Bactericidal Wipes	
ISOWIPE* Bactericidal Wipes Canister	page 28
ISOWIPE* Refill Pack	page 28
ISOWIPE* Minis Canister	page 28
Stainless Steel Wall Bracket	page 28
HALYARD* Washcloth Extra	
HALYARD* Washcloth Extra	page 28
TERI* Wipers	
ISOWIPE* TERI* Wipers Small	page 28
ISOWIPE* TERI* Wipers Small Bulk Pack	page 28
ISOWIPE* TERI* Wipers Large	page 28
TERI*Hydro Absorbent Wipers	
TERI* Hydro Absorbent Wipers Small	page 29
TERI* Hydro Absorbent Wipers Large	page 29
VERSA* Towel	
VERSA* Towel Small	page 29
VERSA* Towel Large	page 29
White Plastic Dispenser Suits Code 4210	page 29
White Plastic Dispenser Suits Code 4220	page 29
HALYARD* Absorbent Tray Liners	
HALYARD* Absorbent Tray Liners Small	page 29
HALYARD* Absorbent Tray Liners Medium	page 29
HALYARD* Absorbent Tray Liners Large	page 29
HALYARD* Neutral Hand Wipes	
HALYARD* Neutral Hand Wipes	page 29

CLINICAL TOWELS

HALYARD* 2N1* WIPE

- Designed to eliminate the need for separate cleaning and disinfection process by combining into a single process
- Kills Bacteria including CRE, VRE and MRSA
- Kills Viruses including Covid-19, Influenza-A and Norovirus
- Kills Yeast-Candida albicans
- Entered in the ARTG as hospital grade disinfectant ARTG 426330



Packaging	Description	Size	Code
Eaches/Canister = 100 Canister/Case = 12 Eaches/Case = 1200	HALYARD* 2n1* Wipe Soft Pack 100	28cm x 21cm	17001



17002 28cm x 21cm HALYARD* 2n1* Wipe Soft Pack 200 Eaches/Canister = 200

Canister/Case = 6 Eaches/Case = 1200



17003 28cm x 17.5cm HALYARD* 2n1* Wipe canister Eaches/Canister = 100 Canister/Case = 12

Eaches/Case = 1200



CLINICAL TOWELS

ISOWIPE* BACTERICIDAL WIPES

- Contains 70% Isopropyl Alcohol to provide hospital grade disinfection of clean surfaces
- Kills Bacteria (S. aureus, E. coli, Ps. Aeruginosa, Pr. Vulgaris)
- Kills Fungi (Yeast and Mould) in 10 minutes
- HACCP certified
- Entered in the ARTG as hospital grade disinfectant ARTG 342811









Code	Size	Description	Packaging
6835	42cm x 14cm	ISOWIPE* Bactericidal Wipes Canister	Eaches/Canister = 75 Canisters/Case = 12 Eaches/Case = 900
6836	42cm x 14cm	ISOWIPE* Refill Pack	Eaches/Refill = 75 Refills/Case = 12 Eaches/Case = 900
6837	20.5cm x 14cm	ISOWIPE* Minis Canister	Eaches/Canister = 150 Canisters/Case = 12 Eaches/Case = 1800
4989		Stainless Steel Wall Bracket	1



HALYARD* WASHCLOTH EXTRA

- Single patient use
- Soft on skin
- Strong wet or dry and ultra absorbent
- Resealable bags

Code	Size	Description	Packaging
2711	35cm x 40cm	HALYARD* Washcloth Extra	Eaches/Pack = 20 Packs/Case = 30
			Eaches/Case = 600



TERI* WIPERS

- Individually folded
- Strong wet strength with scrim reinforcement

Code	Size	Description	Packaging
4465	31.5cm x 34cm	TERI* Wipers Small	Eaches/Pack = 100 Packs/Case = 6 Eaches/Case = 600
4467	31.5cm x 34cm	TERI* Wipers Small Bulk Pack	Eaches/Pack = 450
4466	31.5cm x 61cm	TERI* Wipers Large	Eaches/Pack = 100 Packs/Case = 6 Faches/Case = 600

CLINICAL TOWELS



TERI* HYDRO ABSORBENT WIPERS

- Super absorbency
- Soft, cloth-like feel
- High strength
- Tear-resistant
- Ultra-low linting

Code	Size	Description	Packaging
4476	32.5cm x 33cm	TERI* Hydro Absorbent Wipers Small	Eaches/Pack = 75 Packs/Case = 6 Eaches/Case = 450
4478	32.5cm x 60cm	TERI* Hydro Absorbent Wipers Large	Eaches/Pack = 75 Packs/Case = 6 Eaches/Case = 450



VERSA*TOWEL

- Soft and bulky
- Crepe wadding provides excellent absorbency
- Strong even when wet
- 100 Sheets on perforated roll

Code	Size	Description	Packaging
4210	24.5cm x 41.5cm	VERSA* Towel Small	Rolls/Case = 16
4220	49cm x 41.5cm	VERSA* Towel Large	Rolls/Case = 8
7041		White Plastic Dispenser Suits Code 4210	1
7056		White Plastic Dispenser Suits Code 4220	1



HALYARD* ABSORBENT TRAY LINERS

- Super absorbency
- High strength
- Cut to suit sterilisation trays
- Ultra-low linting

Code	Size	Description	Packaging
4330	20cm x 24cm	HALYARD* Absorbent Tray Liners Small	Eaches/Pack = 124 Packs/Case = 4 Eaches/Case = 496
4331	24cm x 40cm	HALYARD* Absorbent Tray Liners Medium	Eaches/Pack = 75 Packs/Case = 6 Eaches/Case = 450
4332	30cm x 50cm	HALYARD* Absorbent Tray Liners Large	Eaches/Pack = 75 Packs/Case = 6 Eaches/Case = 450

D - - I - - - - - - - -



HALYARD* NEUTRAL HAND WIPES

- Neutral ingredients to clean visibly soiled hands
- Alcohol, fragrance, parabens & phosphates are not used in formulation
- Resealable soft pack

Code	Size	Description	Packaging
8835	20cm x 20cm	HALYARD* Neutral Hand Wipes	Eaches/Pack = 15 Packs/Case = 40 Eaches/Case = 600